@ H= Lsul = 6.8 m

S8
B+ GFE. = KEg vfE 4 w(gchc;ny
O+ mall = dmy L0 + mglesOy
B o+ YT = ‘:‘Lm\.f‘e'L + 368 T

lvp = .86 " R Wil
:EE..‘;; \lbs VLQ—_ V) €
Wl M| B |m
bebuce. oller
owesiun Ve = MVB = v, — le
) ) 1 |

gy M 4 3Myt = zmyt + 2V

=V, = =My My, — v, () [\



T
, o
‘:L_MV{:1+ My = ii“"*’f*‘ M (Va“(M)VJP'(ﬁ)VQ)
ek (=2t s 2M b b = 23T
™
C,L; \I&* _ﬂj\l% we buo Huis = 26,0,
o 5 B :‘+2M<C (MB \
N ™
- o (- e + (1)

=

1 1
= My + %MC;— mczv + a.mbx Vo
C\ = ;_(nu- M)V mC M, =+ zMC

= 0 = 3 T = (mC) v + (M-

+wmG 2 QM‘C: ’Z(M*mﬁj(imci’c‘)—\

e — LA R
(m =

2.8 kg

B + 3] 5 com;govu@; + “_&_ﬂf_ Cqﬂs‘m
= 986F  oveprds b bebre cllinen



So

SPew( JE: Hock o;%gr wllision is

_—

N, =
N

t s
KE afer 7

FEube =

| 47| % La;&; U(J Vu:mr (

n u ounds
Vb—LM\V.g'(M)VL £ %9 2 )fﬂwf;
mV, o+ AM = 248 T ) doge

5 €
v+ %_Mv; = 23t T

NS s Vade w vamp-

Ke-

z

Lv,m + O

- GFE;

L

Keg + GPEg + (o)

= JZ-MV;_ - mg(’{ + ‘M%Lwﬁef,g,

émvg + 24T + 368 T

»

otd J°

453 "/s w%‘\l’a‘o or rainD



